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uksV % lHkh ikap iz'uksa ds mRrj nhft,A izR;sd bdkbZ ls ,d iz'u gy djuk vfuok;Z gSA lHkh iz'uksa 

ds vad leku gSaA 

Note: Attempt all the five questions. One question from each unit is compulsory. 

All question carry equal marks. 

 

Unit-1  bdkbZ&,d 

Q.1. a- fdlh fHkUu dk gj va'k ls 2 vf/kd gSA ;fn va'k esa 5 tksM+k tk;s rks fHkUu esa 

,d ds cjkcj o`f) gks tkrh gSA fHkUu Kkr djksA      5  

The denominator of a fraction exceeds the numerator by 2. If 5 be added to 

the numerator the fraction increases by unity find the fraction 

b- nks vadksa ls cuh fdlh la[;k ds vadksa dk ;ksx 9 gSA ;fn la[;k ds vad myV 

fn;s tk;s rks cuus okyh la[;k ewy la[;k ls 45 vf/kd gksxhA la[;k Kkr dhft,A 

The sum of the digits of a number consisting of two digits is 9. If the digits be 

reversed, the resulting number will be greater than original number by 45. Find 

the number. 

OR ¼;k½ 

fuEufyf[kr js[kh; izØeu leL;k dks xzkQh; fof/k ls gy dhft,-  

U;wure dhft, 

Z = 2x1 – X2 

tcfd 

X1 + X2 ≤ 5 

X1 + 2X2 ≤ 8 

RkFkk   X1, X2 > 0 

Solve the following linear programming problem by graphic method: 

Minimize 

Z = 2x1 – X2 

Such that 

X1 + X2 ≤ 5 

X1 + 2X2 ≤ 8 

and   X1, X2 > 0 



 

Unit-2  bdkbZ&nks 

Q.2.  ;fn A = [ 
−1

3
  

  2

   4
 ] , B = [ 

3

−1
  

 −2

  2 
 ]  rFkk C = [ 

−1

1
  

  1

   0
 ]  gks 

rks AB + AC Kkr dhft,A 

 

If A = [ 
−1

3
  

  2

   4
 ] , B = [ 

3

−1
  

 −2

  2 
 ] and C = [ 

−1

1
  

  1

   0
 ]  ,  

Then find AB + AC 

OR ¼;k½ 

y?kqx.kd lkj.kh }kjk fuEu dk eku Kkr dhft, % 

   

4.6 X (0.0726)
3 x √0.8342

3

(0.07241)4 x √0.6273
 

Find the value of the following applying logarithms:  

   
4.6 X (0.0726)

3 x √0.8342
3

(0.07241)4 x √0.6273
 

 

Unit-3  bdkbZ&rhu 

Q.3.  dqN jde m/kkj yh xbZ vkSj Øe'k% 654 :- vkSj 660 :- dh nks okf"kZd fdLrksa 

esa Hkqxrku dh xbZA pØo`f) C;kt 10 izfr'kr okf"kZd nj ls yxk;kA fdruh jde m/kkj 

yh xbZ Fkh\ 

A sum of money was borrowed and paid back in two annual instalments of 654rs. 

And 660rs. Respectively. If the rate of compound interest was 10% per annum. 

Find the sum borrowed? 

Or ¼;k½  

izR;sd o"kZ ds izkjaHk esa 250 :- okf"kZd Nk=o`fRr ikus okys dks 3 o"kZ rd Nk=o`fRr ¼okf"kZdh½ 

ugha nh xbZA crkb;s 3 o"kZ ds ckn 5 izfr'kr pØo`f) C;kt dh nj ls mls fdruh jkf'k 

feysxh\ 

A person who had got 250rs. As scholarship (annuity) to be paid at the beginning 

of each year did not receive it up to three years. Calculate the total amount with 

5% compound interest after 3 years.  



Unit-4  bdkbZ&pkj 

Q.4.  ,d cSx esa 1 :-] 50 iSls vkSj 10 iSls ds flDds gSaA :i;s rFkk 50 iSlksa ds flDdksa 

dk vuqikr 2%5 gS rFkk 50 iSls vkSj 10 iSls ds flDdksa dk vuqikr 4%9 gSA ;fn dqy 

/kujkf'k 1125 :- gks rks izR;sd izdkj ds flDdksa dh la[;k crkb;sA 

A bag contains one rupee, fifty paisa and ten paisa coins. The rupee and fifty 

paisa coins are in ratio 2:5 and the fifty paisa and ten paisa coins are in the ratio 

4:9. if the total amount is 1125rs. Find the number of coins of each type.  

Or ¼;k½  

'kq) ?kh dks 61 izfr'kr 'kq) j[kus ds fy, blesa 39 fdxzk ouLifr ?kh feyk;k x;kA 

foØsrk vc bldh xq.koRrk esa lq/kkj djus ds fy, bl feJ.k esa 20 fdxzk 'kq) ?kh feykrk 

gS A vc u;s feJ.k esa 'kq) ?kh dk izfr'kr fdruk gS\ 

39kg of Vegetable ghee was mixed with pure ghee to make it 61% pure. The 

dealer tries to improve the quality by putting a further 20 kg of pure ghee into the 

mixture. What is the percentage of pure ghee in the new mixture?  

Unit-5  bdkbZ&ikap 

Q.5.  ,d lgdkjh lfefr lwph ewY; ij 20 izfr'kr NwV nsrh gSA blds ckn 6 izfr'kr 

udn cV~Vk nsrh gSA izfr :i;k ykxr ewY; dks fdruk c<+k;k tk, ftlls fd ykxr 

ewY; ij 10 izfr'kr ykHk gks\ 

A co-operative society allows a discount of 20% on the list price. It further allows 

a cash discount of 6% How much price above the per rupee must it make to obtain 

a profit of 10% on cost price? 

Or ¼;k½  

fuEufyf[kr ifjogu leL;k dks ukWFkZ&osLV dkWuZj fof/k ls gy dhft, % 

L=ksr 
efUty 

iwfrZ 
          D1           D2         D3        D4 

O1 

O2 

O3 

           6          4          1          5 

           8          9          2          7 

           4          3          6          2 

14 

16 

5 

ekax            6         10        15         4 35 
 



Solve the following transportation problem by North-West corner method:  

Origin 
Destination 

Supply 
          D1           D2         D3        D4 

O1 

O2 

O3 

           6          4          1          5 

           8          9          2          7 

           4          3          6          2 

14 

16 

5 

Demand            6         10        15         4 35 
 


